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1. This paper 1] presents a simple energy-efficient routing algorithm that is based
on a physical layer that uses a form of cooperative transmission (CT). Please
describe two featur.p_s in the paper [1] routing algorithms.

2. Please define FES.

3.  Please describe the upstream connectivity issues in OLACRA and illustrate an
example of a failed upstream connection.

4. To save energy, authors proposed the OLACRA-FT. Please show it and illustrate
an example.

5. Please describe aims of OLACRA-SC and illustrate an example.



